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Annotations used in the detailed Mark Scheme (to include abbreviations and subject-specific conventions)

Annotation Meaning
: Tick
’+ Development of point

x incorrect
Irrelevant (material which doesn’t answer the question)
x Caret sign to show omission
[0 ] Opinion
Just/Justification
Good language
Poorly expressed
[P ] Past tense correctly used
Future tense correctly used

na Highlight
Accurate language
[ | Inaccurate language
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Abbreviations Meaning

/ Alternative and acceptable answers for the same marking point
() Words which are not essential to gain the mark

Underlined words must be included to gain the mark

Subject-specific Marking Instructions

e You should print out a copy of the paper and work through it yourself (using the transcript for the Listening activities which you can find
at the end of the Mark Scheme, if the audio version is not available on the portal.) You will need a copy of the written texts to refer to
during the marking process in order to spot excessive lifting in tasks 6 and 7. The texts will not appear automatically on your marking
screen.

e The award of marks is not necessarily dependent on the specific wording in the detailed sheets which follow. Other wordings will score the
marks, provided they are semantically equivalent. If the language used by the candidate conveys meaning and also answers the
question, then the mark(s) should normally be credited for comprehension (c.f. “sympathetic native speaker/sympathetic examiner”).
Use your professional judgement to apply the marking principles given in this mark scheme but if you are still in doubt about the validity
of any answer, then consult your Team Leader by phone, the messaging system within SCORIS or e-mail.

e Language marks: These are assessed separately — Grids C.2 and F.2 — See guidance in the detailed sheets below.

e Where candidates give alternative answers, only the first one written, or the one on the line should be marked.
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Task 1:
uestion nswer arks uidance
Q [ A Mark Guid
[12]
1 <-b 1
Multi-choice
2 @-C 1
3 «-b 1 either
4 ne 1 Marks entered individually. No need for annotation. Enter 1, 0 or NR as
a appropriate.
5 ¢-C 1
6 - 1 or. . . o
: This task is scanned in by the page. Marks are awarded individually. No

7 <l - a 1 annotations are necessary.
8 <-b 1
9 <-b 1
10 @ - 1
11 - g 1
12 i - a 1
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Task 2
Question Answer Marks Guidance
[13]

- g $Jw-9

<-b G - 3

w-c el - 14 Award all Due to th.e obscqred words in the table given in the qugstion

and ol - 10 candidates | Paper, this question should not be marked and all candidates

] 13 marks | should be awarded 13 marks (regardless of whether they have

c-e &as-1 for this attempted the question or not).

c-f JPHENPHE QS question

€-9 M-6

c-h o - 11

¢-i Cayb - 19

-] I My - 12

-k Lda - 17

o= (nad - 20

Sr -5
J-m
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Task 3
Task specific guidance:
e Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate)

e For single mark questions no annotation is necessary just enter 1, 0 or NR.

e There is no need to use a cross (X) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award
the mark or when a word in the response invalidates an otherwise acceptable answer.

¢ You may also use the highlighter tool to show harmless additions.

e Answers in Target language get no marks.

Quest | Answer Ma Guidance
ion rks

1 work placement (in Esfahan) for two and a 2 Teaching and Teaching experience is acceptable

half months
1 teaching English is acceptable or helping teacher
2 she was a teacher assistant
2
3 free and with all food included
4 she has an (authentic) English accent 1

5 Easy to get around/good transport/staying 2 Accept any two
in centre/sites nearby

6 to learn about (1) her favourite historical 2 Safavid period or dynasty is also acceptable
period (1)
7 (Apply for) teacher training course (1) at a 2 Training course is not acceptable
London university (1)
8 helps her university application 1 Accept any indication to gaining a point or work experience to be counted
9 Farsi speakers - who want to be a teacher 2
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Task 4

10 marks for Communication (Grid H1), 10 marks for Quality of Language (QolL)

Task Specific Guidance

The candidate response will be scanned in twice. The marks for Communication are awarded the first time. The second image is for you
to assess the QoL.

Communication: This is a transfer of meaning exercise, not a word-for-word translation, so there may be several ways of putting the
points across. Key elements of the points are underlined in the mark scheme. For communication / content, assess as a “sympathetic
native speaker / sympathetic examiner” and give credit accordingly.

Annotations:
In the body of text, use a tick (\/) to show that a point has been fully and successfully conveyed.
If an element of the point has been omitted, use the caret sign (A).
If a point has been omitted, is incorrectly rendered or is rendered in a way that would be incomprehensible, use no annotation.
Use a cross (X) when a word in the response invalidates an otherwise acceptable answer.
The annotations will give a global impression to help you apply Grid H.1 accurately and consistently.

Grid H.1: The ticks will show the number of points successfully conveyed. These will normally correspond with the marks you award.
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Question

Answer

Marks

Guidance

[10]

Accept

Do not accept

Gz )3 Gl gl [ G LS (50 kil a3 0 (1
2348 G Jlw 02 ) i (e [ i8S s Sle ) Lad
Gapu)d Sl LA ) WAy Ga [ L adS e (S0 (L&l
(90 4) (s 4 (D) 5 (w8 Gl 53 A 43 ) 58 0
ol 2 (o [ Lol Sda Gl 52 A sl 9 ] S ciaa
I_ehdgh'amamuJJ/@.\ua#ﬂaJ\g.\@Lg\),ao.:.'a.ﬁdl.u
Culy Aor Wb Ul g/ Sa00 352 9 Assa 3 ab Cuald) (LSl L
Sadlam o
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COMMUNICATION

GRID H.1 10 marks AO2
9-10 Most or all of the information successfully conveyed.
7-8 Three quarters of the points conveyed.
5-6 Half of the information successfully conveyed.
3-4 Only a quarter of the points conveyed.
0-2 Very little or no information conveyed.

10
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QoL: Read response again and assess for language.

e Annotations: you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not
essential.

e Grid C.2: Key words have been highlighted in the Grid. Remember that this grid is also used to assess accuracy at A2. At AS level,
one year beyond GCSE, the only complexity of language that is expected is that required by the task. Identify the band which best
matches the performance. If you identified the band without hesitation you must award the higher of the two marks.

QUALITY OF LANGUAGE - ACCURACY

CIRIL G2 10 marks AO3

9-10 Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.

7.8 Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex
structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.

5.6 Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct
use of complex sentence structures. The performance is likely to be patchy and inconsistent.
Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival

3-4 agreements) but evidence of correct use of simple sentence structures. Vocabulary and structures may be quite strongly influenced
by the candidate’s first language.

0-2 Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common

nouns). Frequent first language interference.

11
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Section B: Reading and Writing

Task 5 - Part a

Question Answer Marks Guidance
[10]

1 - - 1 mark for each correct answer

2 ¢-C This task is scanned in by the page. The marks are awarded individually.
3 Gl - g No annotations are necessary.

4 «all - g

5 o -

6 &l - a

7 ¢-C

8 - -

9 - a
10 - -

12
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Questions Marks Guidance
U gl KIPEN [FY™ g [10] 1 mark for each correct answer

1 X X X This task is scanned in by the page.
The marks are awarded individually.
No annotations are necessary. If the

2 X X X candidate has put more than 10 ticks,
add up the total number of correct
marks and deduct 1 mark for each tick

3 X X X over 10.

4 X

13
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Task 6
Task specific guidance

e Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate). The
entire page will then appear on the screen for you to assess the QoL.

¢ Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not
appear on the screen.

e Gothrough all the responses and assess every question for comprehension.

a. Marks are awarded on a point by point basis, according to the mark scheme.

b. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for
comprehension or QoL

c. For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language
interferes slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is
ambiguity or it is gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If
appropriate, candidates may answer with single words / short phrases.

e Annotations:
e Award 1, 0 or NR without annotation.

e Use atick (\/) to indicate a mark awarded on any question where the answer is more than one mark.

e Use a cross (X) when a word in the response invalidates an otherwise acceptable answer.

o Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and
exclude from Quality of Language assessment.

Assessing Quality of Language
a. You will get a separate screen which will be the whole page (unannotated). Read all the answers again. You may use the
green L marking tool to highlight good language to assist you in the application of Grid C.2. but it is not essential.

b. Apply Grid C.2 and enter the mark.
c. When candidates have left several questions unanswered, click on “fit height” to have an overall view.

14
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Task 6
Question Answer Marks Guidance
[20] Accept Do not
accept
1 152 A inae ) (8005 3 - ag gl iyl alea 2
2 GRS S8 Cun 1
3 Lo i e S O 1 S5l BN Aad A [ 0 e 0 gA ([l b ndh 2 \
3550 33 ol g pa e 31 [ 3 g0 By 0 S0aTsBa 139y 05 A 1y Biuma o) A4Sl sl | 2
4 S (B8l o
(M0 A A BLE 4y ) ) iy alals) [ 03 S SE Jiia 2
5 -z Z o ’ P
FMa 1 O S 05 8 (Ml paddi 359 9 b AS) AT e asha I8 ) 018 Qa9 R 2
6 b £ ol Al AS ALY e
393 OGR! (Bl e I3 G pd [ Cadila g 1) ad e ) 5
7 it s
a5 Ad G 1
8 N5 S 21 g) Ul A W | g
9 S ea S Wniay 3 AL [ CAIN e Gl LS S 3 ) Gl 2
0 (RS Al y )y OV gl Gdla U Jals ) ) Slndl [ a A AS (£ g g4 1
1
A3 pa Bl ) gk g S0 dg ol W a3 b 1) S (il g8 2
11
12

15
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Task 6
o If only 1/3 of the questions have been answered, the maximum mark for C2 is the 5/6 band
e If only 2/3 of the questions have been answered, the maximum mark for C2 is the 7/8 band

QUALITY OF LANGUAGE - ACCURACY

SRIDE2 10 marks AO3

9-10 Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.

7.8 Language generally accurate. Shows a sound grasp of AS and/or A2 structures, as appropriate. Generally correct use of complex
structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.

5.6 Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct
use of complex sentence structures. The performance is likely to be patchy and inconsistent.
Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival

3-4 agreements) but evidence of correct use of simple sentence structures. Vocabulary and structures may be quite strongly influenced
by the candidate’s first language.

0-2 Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common

nouns). Frequent first language interference.

16
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Task7
Task specific guidance

Have a copy of the text to hand and familiarize yourself with it, so that you can easily spot instances of lifting from the original. Only the
candidates’ work will appear on the screen. You will have three successive screens 7a, 7b and then 7a + 7b again, but without the
annotations in order to assess QoL.
Task 7a Comprehension. Grid | [10 marks]
a. Annotations:

¢ Inthe body of text, use a green tick v’ to show that a point from the mark scheme below has been fully and successfully conveyed.

e If an element of the point has been omitted, use the caret sign (A).
e If a point has been omitted, is incorrectly rendered or is rendered in a way that would be incomprehensible, use no annotation.
The annotations will give a global impression to help you apply Grid | accurately and consistently.
b. Grid I: Looking at the annotations, assess what proportion of the points has been conveyed and apply Grid I. Enter your mark.

c. Copying/ lifting: If chunks of the text are simply copied, award marks for comprehension but there is a limit of 3-4 marks for (a) if
the entire answer is lifted (see Grid I). Verbatim copying of the stimulus text results in no marks. Use the highlighting tool (......) to
show lifted language. Only phrases of 5 words or more should be counted as lifted language.

17
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Question Indicative content Marks Guidance
[10] Content Levels of Response
1,283 | 5 some S [ Gl Gl el o) ) (Sa s s A | 3 Grid |
[ Gl )b Gy i8G5 gl IS Cuaal [ Cad 4slials S?QAPREHENS'ON OF TEXT
Consistently relevant information. Includes
4 & 586 [ 201 H) 8 agdia e (S ) o g b&\j Gi_ujg 4e sana 3 nearly all the points from the original
. s 4 (T .. . A RPN . passage. Shows a very clear
iy bl (S 3) s esls YA o S8 by O ‘5“73)? understanding of the text
da
7-8
7&8 (ot 93 A oli.a\j (OJ:,J L9\)_.,)/ 5 =-JJ§ b alaxd Jlawl 3956 )3 2 Relevant information showing
el T edlaliS < el en understanding of up to two thirds of the
O GRS s TR o points from the original passage. There may
9& 10 G $ia R (sile S0 3 G/ s Sl 5 gt 3 53 2 be one or two instances of lifting from the
C o ) T (1“_\,.»\ w')s' original passage.
e . .y . . . . 5-6
11&12 I Cuanl Hhaiga Gl ddhaie [ Gl e SO L 030 eSS 2¢de 2 Some relevant information showing
13 oAl Mo ygu) S b g A U sla S o ol il aa g il 8 ) 1 understanding of up to half of the points.
(o There may be instances of lifting from the
original passage.
No of points 3-4
12-13 10 marks Little relevant information. Includes up to
a third of the points, showing understanding
10-11 9 marks of some of the points. Over-reliance on
8-9 8 marks phrases lifted from the original passage.
6-7 7 marks 0-2. _ , .
No relevant information or supplies one or
5 5 marks two relevant points from the original
4 4 marks passage.

18
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Question

Answer

Marks

Guidance

[20]

Content

Levels of Response

No Indicative Content —
personal response

Grid J: Looking at the annotations, assess
the quality of the response to the text and
apply Grid J. NB: “imagination” and “insight”
are interpreted conservatively. The number
of ticks you have awarded will indicate a
mark band. You must then use your
professional judgement to fine tune your
marking. You may look at the quality of the
candidate's points and go down a mark or
two if they seem rather pedestrian or
repetitive. Similarly, an attempt at originality
or humour could gain an extra mark or two.
Enter your mark.

. Use the green tick (¥) in the body of
the text to show each opinion / personal
response and a green tick (\/+) in body of
text to show a development / extension of
the opinion. NB: one opinion may have
several extensions.

GRID J
RESPONSE TO TEXT

16-20

Responds with well developed points of
view which show insight, originality and
imagination.

12-15

Expresses points of view which are
consistently developed and respond to the
requirements of the task. Shows some
originality and/or imagination

8-11

Expresses points of view which respond to
the requirements of the task. Some of these
may be developed and there may be some
originality and/or imagination.

4-7

Manages the beginning of a response to the
requirements of the task. May have difficulty
in expressing and/or developing points.

0-3
Very short. May not go beyond points of
view already expressed in the original text.

19
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Task 7(a) + 7(b) — Language (QolL) — Grids C.2 and F.2: [20 marks]

Question

Answer

Marks

Guidance

Task 7a+b

Assess for Quality of Language using Grids [20]

C2 and F2
Appendix 1

a.

Read the whole response again and assess for Range (Grid F2) first —i.e.
vocabulary and structures. Then assess for Accuracy (Grid C2). Key words
have been highlighted in the grids below. Ignore final sentence of 3-4 band in
Grid C2, because vocabulary and structures have already been assessed
under Grid F2. If you wish, you may use the underlining tool (--) to show
language errors if you find it makes it easier to apply Grid C.2, but it is not
essential. Enter your mark.

Ignore language lifted from the text when assessing language (See Task 8a
above). Lifted language is not credited for QoL — only content points and/or
personal response.

20
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QUALITY OF LANGUAGE - ACCURACY QUALITY OF LANGUAGE (RANGE)
GRIDC.2 1 10 marks AO3 GRIDF-2 | 10 marks AO3
Character|§ed by ahigh and consistent level of Effective and confident use of a wide range of vocabulary
9-10 accuracy in use of complex structures, although there 9-10 and idiom with a variety of complex sentence structures
may be some errors. y b '
Language generally accurate. Shows a sound grasp of Effective use of arange of vocabulary and structures
AS (and/or A2) structures, as appropriate. Generally appropriate to the task, with little repetition. A positive
7-8 correct use of complex structures. Tenses and 7-8 attempt to introduce variety and to use a range of
agreements good, although there may be some complex sentence structures (though not always able to
inconsistency and errors in more complex areas. maintain correct usage).
Sggé\'j e(;”edneenrgeﬁ52{?&?&212?2??& r())lfegsr:m;nnaglecal Attempts to extend the range of vocabulary, though still
' rather repetitive. Attempts to use more complex language
5-6 structures. Some correct use of complex sentence 5-6 . . ;
structures. The performance is likely to be patchy and with some success in prod_ucmg a range of syntax and
inconsistent. sentence structures appropriate to the task.
Evidence of gaps in basic grammar. Frequent errors of
an elementary kind (endings, verb forms, gender of Use of a restricted range of vocabulary and structures.
3.4 common nouns, adjectival agreements) but evidence of 3.4 Frequent repetition of the same words and phrases. Some
correct use of simple sentence structures. attempt (not necessarily successful) at the use of more
(Vocabulary and structures may be quite strongly complex sentence structures.
influenced by the candidate’s first language).
Little evidence of grammatical awareness. Persistent,
0-2 serious and elementary errors (endings, verb forms, 0-2 Only simple sentence patterns. Very limited vocabulary.
gender of common nouns). Frequent first language Very limited range of structures.
interference.
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Transcripts of Listening Texts

Note for Document production team: This section of the mark scheme must stay in Portrait
format until after the standardisation meeting.

AWE S 3 — ) pal
Tapescript for Exercise 1
sy Gl R
TR Fraly g V) g Ay 9 S o8 ldbhdan g0l Lasi 9 4D ol ) i gd 93 a4
ilad (el ab AN addga ia a8 s T Wdg Cpl 4 (e 481 alS S algaal bl g r4dl
e g 3 AS JBU) 40 KN cp it o guadia (i alid Ol b O3S 3k sl b b O i
ph S 48N L 5 oduad alad) Uy pidd A (LSS AS € g ) A Apde 4 gla UL dia (lalra ol

A IS i Al AS Gl g AALEE) )y 1AS) 438 e

T

Ol 2 AR 5 S gaud Ay pmn aid (5 g3 AS R giae dad Ly AS 438 8 3l Las ) al gasad
i G pdilaly g 4SS oK gdilinagd (LS S g 3 g i S 0 Al g e pb o la s
RSl DA R gha Cisa g aloddi 9 gy cl ) (e AS ALY Jia 4808 Sl A3

L s (il 9 038 Gage 43sa) 0090 Ug) ol (R (ASdia R (0SS Cal i giasd la A sles
Jos A gd ptla b 8 g Godigha )9 49 Adiad 5 00 (gl Bai) ) (ol il C) QI B8 La
3l al s day (3155 L La W) 038 i pldag) S o pldla 5 JSda Cpab iy
A b () AS ariS pa (o b bl dad Jeband (La 595 Die sy Gl el (18l 5.9 AS sl S
dad g aridiph IS (3,9 S9 g0 a S ad L AS o) Alasanal gdad Lo andy SGa 3 di b 434S
CRAEIN Ay g 03 S b pdiny WA o yd udg g 02 Ja cSiia gdat a8 el (and S Laal g Qi)
Olea s cidle Aali
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Tapescript for Exercise 2
AL S — ¥ yad

Jus @b

A g e (g o A pda Ay 1) AT sATIR 93 AS 2l gaaa (e i) ()l Ag L ) S99
il Gl gd 9 Jaald JUS o 9 Gla) 2 1, a8 Jg) Sy adied A oa La g 2 £ g e Lad) )
dia Ol 08 Jeusd A8 ag 02 £ gy bt Juad 9l (19 g9 AL a2 Lanl gp s ATyl
Qe dad 30 ) Gl AT A g3 ) Lyl 3 (a8 W gy Jla gaa U o la 148 IR g

5 Ou |y (IS0 aad g (9G53 An ¢y gdilla il gE (o0 I Ay sloal giE p ATl (3 )3
390 Oalg) sa s 6 Jlu £ 9 0 9 3085 (s WO ol 1) Cpen il Jilaug 9 (N 00 0 Jnen aa
ddipa LBl g 1) Jlgr 9 O on 4B g5l QLR 3 cona La R 4y g g Adioa Jiine I gh Ao £ 904 g

S dmald 221 gdan 5 Clidaad Lo lal g WA jda shad Goos8 W gy o AR A 3 S ua
gl g (Al 5 gl gliad Wodl gilA iy 3 9 Qe AKgden (a d4g K5 9 S8 ) g
Al A B e alad AS add ) gaaa (il gL Lol G (o) il () Al (b
9 ok S ) gy Al 908 psmiy 9 ) Al 8 Jla (e 3 add gl pb Jaald LA b
23 o KR B L iy UAT i cpl SRR ladgia ) S L alS @Syl L) )
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Task 3
Laleh’s trip to Esfahan

Olgdeal 4 AlY i
4 il )3 (ol G B Isal shmmsa S 3 S 5AIUS 1or s Curge AN ALEX Jlu
948 A ga () A caraa Cowigd Jl g Ol 3 anig sla gd Cida 4y S (p) Aol Sl
J%\Jdcﬁ@#\&&dﬁd&b&@\d&wy AJSUAJISI.;?Y‘:&.AMQU:\Q‘L)MY
) gt AS ) L 03 S Cuna ST 5 313 oo Gt el (1S3 6S A ADY 35y 43EIXE )
el e LA A (| )
pga IS ) (sl Ay g et g Gl ) Ay el g 8 a9 Olgual S e 0 Aescaza 4S LT )
_J\g,aahﬂuilhﬁ
‘_50)\9.3‘\5‘4.33&4LSOJQJJUJJS"ALAM\L)\SSJLAOJJA@J&JJ}A\Jd\gid‘j]d\gjm;\gﬂy
AJsakn Ad (gl ABS 3 5a Ay
6099 Gl LA Lalds (adl Lguam‘.\j‘ﬁJdehALﬁﬁﬂ $0099 U Juand (g 1 M) g3 a4 AN
Al e 4 L) S ) ) s Sgal S
AL@%}QS@M\@M&U&MJJE\A@“&J@MLg)iﬁddbé\@b@)@ﬁ@\ﬂ'ﬁ

S o4

That is the end of the recording
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	Annotations used in the detailed Mark Scheme (to include abbreviations and subject-specific conventions) 
	 
	Annotation 
	Annotation 
	Annotation 
	Annotation 

	Meaning 
	Meaning 

	Span

	 
	 
	 
	 
	InlineShape


	Tick 
	Tick 

	Span

	 
	 
	 
	 
	InlineShape


	Development of point 
	Development of point 

	Span

	 
	 
	 
	 
	InlineShape


	incorrect 
	incorrect 

	Span

	 
	 
	 
	 
	InlineShape


	Irrelevant (material which doesn’t answer the question) 
	Irrelevant (material which doesn’t answer the question) 

	Span

	 
	 
	 
	 
	InlineShape


	Caret sign to show omission 
	Caret sign to show omission 

	Span

	 
	 
	 
	 
	InlineShape


	Opinion 
	Opinion 

	Span

	 
	 
	 
	 
	InlineShape


	Just/Justification 
	Just/Justification 

	Span

	 
	 
	 
	 
	InlineShape


	Good language 
	Good language 

	Span

	 
	 
	 
	 
	InlineShape


	Poorly expressed 
	Poorly expressed 

	Span

	 
	 
	 
	 
	InlineShape


	Past tense correctly used 
	Past tense correctly used 

	Span

	 
	 
	 
	 
	InlineShape


	Future tense correctly used 
	Future tense correctly used 

	Span

	na 
	na 
	na 

	Highlight 
	Highlight 

	Span

	 
	 
	 
	 
	InlineShape


	Accurate language 
	Accurate language 

	Span

	 
	 
	 
	 
	InlineShape


	Inaccurate language 
	Inaccurate language 

	Span


	 
	Abbreviations 
	Abbreviations 
	Abbreviations 
	Abbreviations 

	Meaning 
	Meaning 


	/ 
	/ 
	/ 

	Alternative and acceptable answers for the same marking point 
	Alternative and acceptable answers for the same marking point 


	(  ) 
	(  ) 
	(  ) 

	Words which are not essential to gain the mark 
	Words which are not essential to gain the mark 


	__ 
	__ 
	__ 

	Underlined words must be included to gain the mark 
	Underlined words must be included to gain the mark 



	 
	 
	 
	 
	 
	 
	 
	Subject-specific Marking Instructions 
	 
	 You should print out a copy of the paper and work through it yourself (using the transcript for the Listening activities which you can find at the end of the Mark Scheme, if the audio version is not available on the portal.) You will need a copy of the written texts to refer to during the marking process in order to spot excessive lifting in tasks 6 and 7. The texts will not appear automatically on your marking screen. 
	 You should print out a copy of the paper and work through it yourself (using the transcript for the Listening activities which you can find at the end of the Mark Scheme, if the audio version is not available on the portal.) You will need a copy of the written texts to refer to during the marking process in order to spot excessive lifting in tasks 6 and 7. The texts will not appear automatically on your marking screen. 
	 You should print out a copy of the paper and work through it yourself (using the transcript for the Listening activities which you can find at the end of the Mark Scheme, if the audio version is not available on the portal.) You will need a copy of the written texts to refer to during the marking process in order to spot excessive lifting in tasks 6 and 7. The texts will not appear automatically on your marking screen. 


	 
	 The award of marks is not necessarily dependent on the specific wording in the detailed sheets which follow. Other wordings will score the marks, provided they are semantically equivalent. If the language used by the candidate conveys meaning and also answers the question, then the mark(s) should normally be credited for comprehension (c.f. “sympathetic native speaker/sympathetic examiner”). Use your professional judgement to apply the marking principles given in this mark scheme but if you are still in d
	 The award of marks is not necessarily dependent on the specific wording in the detailed sheets which follow. Other wordings will score the marks, provided they are semantically equivalent. If the language used by the candidate conveys meaning and also answers the question, then the mark(s) should normally be credited for comprehension (c.f. “sympathetic native speaker/sympathetic examiner”). Use your professional judgement to apply the marking principles given in this mark scheme but if you are still in d
	 The award of marks is not necessarily dependent on the specific wording in the detailed sheets which follow. Other wordings will score the marks, provided they are semantically equivalent. If the language used by the candidate conveys meaning and also answers the question, then the mark(s) should normally be credited for comprehension (c.f. “sympathetic native speaker/sympathetic examiner”). Use your professional judgement to apply the marking principles given in this mark scheme but if you are still in d


	 
	 Language marks:  These are assessed separately – Grids C.2 and F.2 – See guidance in the detailed sheets below. 
	 Language marks:  These are assessed separately – Grids C.2 and F.2 – See guidance in the detailed sheets below. 
	 Language marks:  These are assessed separately – Grids C.2 and F.2 – See guidance in the detailed sheets below. 


	 
	 Where candidates give alternative answers, only the first one written, or the one on the line should be marked. 
	 Where candidates give alternative answers, only the first one written, or the one on the line should be marked. 
	 Where candidates give alternative answers, only the first one written, or the one on the line should be marked. 


	 
	 
	Section A: Listening and Writing 
	 
	Task 1:  
	 
	Question  
	Question  
	Question  
	Question  

	Answer 
	Answer 

	Marks 
	Marks 
	[12] 

	Guidance 
	Guidance 

	Span

	1 
	1 
	1 

	ب - b 
	ب - b 

	1 
	1 

	 
	 
	Multi-choice 
	 
	either 
	Marks entered individually. No need for annotation. Enter 1, 0 or NR as appropriate. 
	 
	or 
	This task is scanned in by the page. Marks are awarded individually. No annotations are necessary. 
	 

	Span

	2 
	2 
	2 

	پ - c 
	پ - c 

	1 
	1 

	Span

	3 
	3 
	3 

	ب - b 
	ب - b 

	1 
	1 

	Span

	4 
	4 
	4 

	فلا - a 
	فلا - a 

	1 
	1 

	Span

	5 
	5 
	5 

	پ - c 
	پ - c 

	1 
	1 

	Span

	6 
	6 
	6 

	ب - b 
	ب - b 

	1 
	1 

	Span

	7 
	7 
	7 

	فلا - a 
	فلا - a 

	1 
	1 

	Span

	8 
	8 
	8 

	ب - b 
	ب - b 

	1 
	1 

	Span

	9 
	9 
	9 

	ب - b 
	ب - b 

	1 
	1 

	Span

	10 
	10 
	10 

	ب - b 
	ب - b 

	1 
	1 

	Span

	11 
	11 
	11 

	فلا - a 
	فلا - a 

	1 
	1 

	Span

	12 
	12 
	12 

	فلا
	فلا
	فلا
	 
	-
	 
	a
	 


	1 
	1 

	Span


	 
	Task 2 
	 
	Question  
	Question  
	Question  
	Question  

	Answer 
	Answer 

	Marks 
	Marks 
	[13] 

	Guidance 
	Guidance 

	Span

	 فلا- a 
	 فلا- a 
	 فلا- a 

	ون لاس - 9 
	ون لاس - 9 

	 
	 
	 
	Award all candidates 13 marks for this question 

	 
	 
	 
	Due to the obscured words in the table given in the question paper, this question should not be marked and all candidates should be awarded 13 marks (regardless of whether they have attempted the question or not). 
	 
	 

	Span

	ب - b 
	ب - b 
	ب - b 

	تبیغ
	تبیغ
	تبیغ
	 
	-
	 
	3
	 


	Span

	پ - c 
	پ - c 
	پ - c 

	تیلب - 14 
	تیلب - 14 

	Span

	ت - d 
	ت - d 
	ت - d 

	یاضف - 10 
	یاضف - 10 

	Span

	ث - e 
	ث - e 
	ث - e 

	عضو - 1 
	عضو - 1 

	Span

	ج - f 
	ج - f 
	ج - f 

	یناکت هناخ - 8 
	یناکت هناخ - 8 

	Span

	چ - g 
	چ - g 
	چ - g 

	راهب - 6 
	راهب - 6 

	Span

	ح - h 
	ح - h 
	ح - h 

	میلام - 11 
	میلام - 11 

	Span

	خ - i 
	خ - i 
	خ - i 

	تعیبط - 19 
	تعیبط - 19 

	Span

	د - j 
	د - j 
	د - j 

	زا راشرس - 12 
	زا راشرس - 12 

	Span

	ذ - k 
	ذ - k 
	ذ - k 

	دیفم - 17 
	دیفم - 17 

	Span

	ر – l  
	ر – l  
	ر – l  

	نیرمت
	نیرمت
	نیرمت
	 
	-
	 
	20
	 


	Span

	ز - m 
	ز - m 
	ز - m 

	گنهرف - 5 
	گنهرف - 5 
	 

	Span


	 
	Task 3 
	Task specific guidance: 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate) 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate) 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate) 

	 For single mark questions no annotation is necessary just enter 1, 0 or NR.  
	 For single mark questions no annotation is necessary just enter 1, 0 or NR.  

	 There is no need to use a cross (x) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award the mark or when a word in the response invalidates an otherwise acceptable answer.  
	 There is no need to use a cross (x) for an answer that is clearly incorrect. Use it when you have had to think and decided not to award the mark or when a word in the response invalidates an otherwise acceptable answer.  

	 You may also use the highlighter tool to show harmless additions. 
	 You may also use the highlighter tool to show harmless additions. 

	 Answers in Target  language get no marks.  
	 Answers in Target  language get no marks.  


	 
	Question  
	Question  
	Question  
	Question  

	Answer 
	Answer 

	Marks 
	Marks 

	Guidance 
	Guidance 

	Span

	 
	 
	 
	1 
	 
	 
	2 
	 
	3 

	 
	 
	work placement (in Esfahan) for two and a half months 
	 
	she was a teacher assistant 
	 
	free and with all food included 
	 

	 
	 
	2 
	 
	1 
	 
	2 
	 
	 

	 
	 
	Teaching and Teaching experience is acceptable 
	 
	teaching English is acceptable or helping teacher 
	 

	Span

	4 
	4 
	4 
	 
	5 
	 
	 
	6 

	she has an (authentic) English accent 
	she has an (authentic) English accent 
	 
	Easy to get around/good transport/staying in centre/sites nearby 
	 
	to learn about (1) her favourite historical period (1) 
	 

	1 
	1 
	 
	2 
	 
	 
	2 
	 

	 
	 
	 
	Accept any two 
	 
	 
	Safavid period or dynasty is also acceptable 

	Span

	 
	 
	 

	 
	 

	 
	 

	 
	 

	Span

	7 
	7 
	7 

	(Apply for) teacher training course (1) at a London university (1) 
	(Apply for) teacher training course (1) at a London university (1) 

	2 
	2 
	 

	Training course is not acceptable 
	Training course is not acceptable 

	Span

	8
	8
	8
	8
	 


	helps her university application 
	helps her university application 

	1 
	1 

	Accept any indication to gaining a point or work experience to be counted 
	Accept any indication to gaining a point or work experience to be counted 

	Span

	9 
	9 
	9 

	Farsi speakers - who want to be a teacher  
	Farsi speakers - who want to be a teacher  
	 

	2 
	2 

	 
	 

	Span


	 
	 
	 
	 
	Task 4       10 marks for Communication (Grid H1), 10 marks for Quality of Language (QoL)  
	 
	Task Specific Guidance 
	 
	 The candidate response will be scanned in twice. The marks for Communication are awarded the first time. The second image is for you to assess the QoL. 
	 The candidate response will be scanned in twice. The marks for Communication are awarded the first time. The second image is for you to assess the QoL. 
	 The candidate response will be scanned in twice. The marks for Communication are awarded the first time. The second image is for you to assess the QoL. 


	 
	 Communication: This is a transfer of meaning exercise, not a word-for-word translation, so there may be several ways of putting the points across. Key elements of the points are underlined in the mark scheme. For communication / content, assess as a “sympathetic native speaker / sympathetic examiner” and give credit accordingly.  
	 Communication: This is a transfer of meaning exercise, not a word-for-word translation, so there may be several ways of putting the points across. Key elements of the points are underlined in the mark scheme. For communication / content, assess as a “sympathetic native speaker / sympathetic examiner” and give credit accordingly.  
	 Communication: This is a transfer of meaning exercise, not a word-for-word translation, so there may be several ways of putting the points across. Key elements of the points are underlined in the mark scheme. For communication / content, assess as a “sympathetic native speaker / sympathetic examiner” and give credit accordingly.  


	 
	  Annotations: 
	  Annotations: 
	  Annotations: 

	   In the body of text, use a tick () to show that a point has been fully and successfully conveyed. 
	   In the body of text, use a tick () to show that a point has been fully and successfully conveyed. 

	 If an element of the point has been omitted, use the caret sign ().  
	 If an element of the point has been omitted, use the caret sign ().  

	 If a point has been omitted, is incorrectly rendered or is rendered in a way that would be incomprehensible, use no annotation.  
	 If a point has been omitted, is incorrectly rendered or is rendered in a way that would be incomprehensible, use no annotation.  

	 Use a cross (x) when a word in the response invalidates an otherwise acceptable answer. 
	 Use a cross (x) when a word in the response invalidates an otherwise acceptable answer. 

	 The annotations will give a global impression to help you apply Grid H.1 accurately and consistently. 
	 The annotations will give a global impression to help you apply Grid H.1 accurately and consistently. 


	 
	 Grid H.1:  The ticks will show the number of points successfully conveyed. These will normally correspond with the marks you award.  
	 Grid H.1:  The ticks will show the number of points successfully conveyed. These will normally correspond with the marks you award.  
	 Grid H.1:  The ticks will show the number of points successfully conveyed. These will normally correspond with the marks you award.  


	 
	 
	 
	Task 4: Communication points 
	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 

	Guidance 
	Guidance 

	Span

	 
	 
	 

	 
	 

	[10] 
	[10] 

	Accept 
	Accept 

	Do not accept 
	Do not accept 

	Span

	 
	 
	 

	یم نم هرابرد متساوخ هسسؤم رد ناتسبات یارب / سیردت راک ی  ی رد هک تسا لاس هد زا شیب نم / .منک بسک یتاعلاطا امش
	یم نم هرابرد متساوخ هسسؤم رد ناتسبات یارب / سیردت راک ی  ی رد هک تسا لاس هد زا شیب نم / .منک بسک یتاعلاطا امش
	یم نم هرابرد متساوخ هسسؤم رد ناتسبات یارب / سیردت راک ی  ی رد هک تسا لاس هد زا شیب نم / .منک بسک یتاعلاطا امش
	Span
	یم یگدنز ناتسلگنا
	 
	منک
	هچب نم / .
	 
	 .مراد تسود یلیخ ار اه
	/
	 
	 نم
	یم
	 
	ا و یسراف نابز ود ره هب مناوت
	 )یناور هب( یبوخ هب یسیلگن
	 مراد دصق نم / .مراد کردم نابز ود ره یارب و / منک تبحص
	 / .مهدب اضاقت هاگشناد رد /
	 ملعم تیبرت هرود
	 کی یارب هدنیآ لاس
	Span
	 تباب یلوپ دیاب ایآ و / ؟دراد دوجو هسسؤم رد مه تماقا ناکما ایآ
	 ؟مزادرپب نآ
	 
	 


	 
	 
	 

	 

	 
	 

	 
	 

	Span

	 
	 
	 

	 
	 
	 

	 
	 

	 
	 

	Span

	 
	 
	 

	 
	 

	 
	 

	 
	 

	Span

	 
	 
	 

	 
	 

	 
	 

	 
	 

	Span


	 
	 
	GRID H.1 
	GRID H.1 
	GRID H.1 
	GRID H.1 

	COMMUNICATION                      
	COMMUNICATION                      
	10 marks AO2 

	Span

	9-10 
	9-10 
	9-10 

	Most or all of the information successfully conveyed.  
	Most or all of the information successfully conveyed.  

	Span

	7-8 
	7-8 
	7-8 

	Three quarters of the points conveyed.  
	Three quarters of the points conveyed.  

	Span

	5-6 
	5-6 
	5-6 

	Half of the information successfully conveyed.  
	Half of the information successfully conveyed.  

	Span

	 3-4 
	 3-4 
	 3-4 

	Only a quarter of the points conveyed.  
	Only a quarter of the points conveyed.  

	Span

	 0-2 
	 0-2 
	 0-2 

	Very little or no information conveyed. 
	Very little or no information conveyed. 

	Span


	 
	QoL: Read response again and assess for language.  
	 
	  Annotations: you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not essential.  
	  Annotations: you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not essential.  
	  Annotations: you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not essential.  


	 
	 Grid C.2:  Key words have been highlighted in the Grid. Remember that this grid is also used to assess accuracy at A2. At AS level, one year beyond GCSE, the only complexity of language that is expected is that required by the task. Identify the band which best matches the performance. If you identified the band without hesitation you must award the higher of the two marks.  
	 Grid C.2:  Key words have been highlighted in the Grid. Remember that this grid is also used to assess accuracy at A2. At AS level, one year beyond GCSE, the only complexity of language that is expected is that required by the task. Identify the band which best matches the performance. If you identified the band without hesitation you must award the higher of the two marks.  
	 Grid C.2:  Key words have been highlighted in the Grid. Remember that this grid is also used to assess accuracy at A2. At AS level, one year beyond GCSE, the only complexity of language that is expected is that required by the task. Identify the band which best matches the performance. If you identified the band without hesitation you must award the higher of the two marks.  


	 
	 
	 
	 
	Table
	TR
	TD
	Span
	GRID C.2 

	TD
	Span
	QUALITY OF LANGUAGE – ACCURACY 
	10 marks  AO3 

	Span

	9-10 
	9-10 
	9-10 

	Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.  
	Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.  

	Span

	7-8 
	7-8 
	7-8 

	Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.  
	Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.  

	Span

	5-6 
	5-6 
	5-6 

	Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct use of complex sentence structures. The performance is likely to be patchy and inconsistent. 
	Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct use of complex sentence structures. The performance is likely to be patchy and inconsistent. 

	Span

	3-4 
	3-4 
	3-4 

	Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival agreements) but evidence of correct use of simple sentence structures.  Vocabulary and structures may be quite strongly influenced by the candidate’s first language.  
	Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival agreements) but evidence of correct use of simple sentence structures.  Vocabulary and structures may be quite strongly influenced by the candidate’s first language.  

	Span

	0-2 
	0-2 
	0-2 

	Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common nouns). Frequent first language interference. 
	Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common nouns). Frequent first language interference. 

	Span


	 
	 
	 
	Section B: Reading and Writing 
	 
	Task 5 – Part a 
	 
	 
	 
	Question  
	Question  
	Question  
	Question  

	Answer 
	Answer 

	Marks 
	Marks 
	[10] 

	Guidance 
	Guidance 

	Span

	1 
	1 
	1 

	 
	 
	 
	ب
	 
	-
	 
	b
	 


	 
	 

	1 mark for each correct answer 
	1 mark for each correct answer 
	 
	This task is scanned in by the page. The marks are awarded individually. No annotations are necessary.  

	Span

	2 
	2 
	2 

	پ - c 
	پ - c 

	 
	 

	Span

	3 
	3 
	3 

	فلا - a 
	فلا - a 

	 
	 

	Span

	4 
	4 
	4 

	فلا - a 
	فلا - a 

	 
	 

	Span

	5 
	5 
	5 

	 ب - b 
	 ب - b 

	 
	 

	Span

	6 
	6 
	6 

	 
	 
	 
	فلا
	 
	-
	 
	a
	 


	 
	 

	Span

	7 
	7 
	7 

	پ - c 
	پ - c 

	 
	 

	Span

	8 
	8 
	8 

	ب - b 
	ب - b 

	 
	 

	Span

	9 
	9 
	9 

	فلا - a 
	فلا - a 

	 
	 

	Span

	10 
	10 
	10 

	ب - b 
	ب - b 

	 
	 

	Span


	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	Task 5 – Part b 
	 
	 
	 
	 
	Questions 
	Questions 
	Questions 
	Questions 

	 
	 

	 
	 

	 
	 

	 
	 

	Marks 
	Marks 

	Guidance 
	Guidance 

	Span

	 
	 
	 

	 شوایس 
	 شوایس 

	دیمح 
	دیمح 

	اویش 
	اویش 

	ابیرف 
	ابیرف 

	[10] 
	[10] 

	1 mark for each correct answer 
	1 mark for each correct answer 

	Span

	 
	 
	 
	 

	1 

	 
	 
	 

	 

	 
	 
	X 

	 
	 
	X 

	 
	 
	X 

	 
	 

	 
	 
	This task is scanned in by the page. The marks are awarded individually. No annotations are necessary. If the candidate has put more than 10 ticks, add up the total number of correct marks and deduct 1 mark for each tick over 10. 
	 

	Span

	 
	 
	 
	 

	2 

	 
	 
	 

	 
	 
	X 

	 
	 
	X 

	 
	 
	X 

	 
	 

	Span

	 
	 
	 
	 

	3 

	 
	 
	X 

	 
	 
	X 

	 
	 
	X 

	 
	 
	 

	 
	 

	Span

	 
	 
	 
	 

	4 

	 
	 
	X 

	 
	 
	 

	 
	 

	 
	 
	 

	 
	 

	Span


	 
	Task 6 
	 
	Task specific guidance 
	 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate). The entire page will then appear on the screen for you to assess the QoL. 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate). The entire page will then appear on the screen for you to assess the QoL. 
	 Each question will be scanned in individually (questions with more than one element will appear twice/three times as appropriate). The entire page will then appear on the screen for you to assess the QoL. 


	 
	 Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear on the screen. 
	 Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear on the screen. 
	 Familiarize yourself with the text and have a copy to hand so that you can easily spot instances of lifting from the original. The text will not appear on the screen. 


	 
	 Go through all the responses and assess every question for comprehension.   
	 Go through all the responses and assess every question for comprehension.   
	 Go through all the responses and assess every question for comprehension.   


	 
	a. Marks are awarded on a point by point basis, according to the mark scheme.  
	a. Marks are awarded on a point by point basis, according to the mark scheme.  
	a. Marks are awarded on a point by point basis, according to the mark scheme.  

	b. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or QoL 
	b. Minimal (additional) irrelevance can be ignored BUT mindless copying (often long chunks) results in no marks for comprehension or QoL 

	c. For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may answer with single words / short phrases. 
	c. For comprehension / content, remember that you are a “sympathetic native speaker / sympathetic examiner”. If language interferes slightly but it is clear that the candidate has understood, give the mark for content / comprehension (unless there is ambiguity or it is gibberish). Limited ability to use language will be reflected in the mark awarded under grid C2. If appropriate, candidates may answer with single words / short phrases. 

	 Annotations:    
	 Annotations:    

	 Award 1, 0 or NR without annotation.  
	 Award 1, 0 or NR without annotation.  

	 Use a tick () to indicate a mark awarded on any question where the answer is more than one mark.     
	 Use a tick () to indicate a mark awarded on any question where the answer is more than one mark.     

	 Use a cross (x) when a word in the response invalidates an otherwise acceptable answer. 
	 Use a cross (x) when a word in the response invalidates an otherwise acceptable answer. 

	 Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude from Quality of Language assessment.  
	 Even if the answer is lifted verbatim from the text, as long as it is a direct answer, award the comprehension mark but highlight and exclude from Quality of Language assessment.  


	Assessing Quality of Language 
	 
	a. You will get a separate screen which will be the whole page (unannotated).  Read all the answers again. You may use the green L marking tool to highlight good language to assist you in the application of Grid C.2. but it is not essential. 
	a. You will get a separate screen which will be the whole page (unannotated).  Read all the answers again. You may use the green L marking tool to highlight good language to assist you in the application of Grid C.2. but it is not essential. 
	a. You will get a separate screen which will be the whole page (unannotated).  Read all the answers again. You may use the green L marking tool to highlight good language to assist you in the application of Grid C.2. but it is not essential. 
	a. You will get a separate screen which will be the whole page (unannotated).  Read all the answers again. You may use the green L marking tool to highlight good language to assist you in the application of Grid C.2. but it is not essential. 

	b. Apply Grid C.2 and enter the mark. 
	b. Apply Grid C.2 and enter the mark. 

	c. When candidates have left several questions unanswered, click on “fit height” to have an overall view.   
	c. When candidates have left several questions unanswered, click on “fit height” to have an overall view.   



	Task 6   
	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 

	Guidance 
	Guidance 

	Span

	 
	 
	 

	 
	 

	[20] 
	[20] 

	Accept 
	Accept 

	Do not accept 
	Do not accept 

	Span

	1
	1
	1
	1
	 

	 
	2
	2
	 

	 
	 

	3
	3
	 

	 
	 

	 
	 

	4
	4
	 

	 
	 

	 
	 

	5
	5
	 

	 
	 

	6
	6
	 

	 
	 
	7
	7
	 

	 
	 

	8
	8
	 

	 
	 

	9
	9
	 

	 
	 
	10
	10
	 

	 
	 

	11
	11
	 

	 
	12
	12
	 


	دوب وا تایبدا ملعم 
	دوب وا تایبدا ملعم 
	دوب وا تایبدا ملعم 
	-
	 نز رددا شیگدوب هتشاذگ یقیمع رث
	 

	 ندرک رکف تسرد 
	یم هدناوخ سرد /یناتساد ای رعش  دش/ همه تارظن شناد  ار نازومآ کی کیمی  دیسرپ
	یم هدناوخ سرد /یناتساد ای رعش  دش/ همه تارظن شناد  ار نازومآ کی کیمی  دیسرپ
	 

	تبحص وا هکنیا یارب زور یگدنز هب ار اههنا ی شناد  نازومآطبر یم  / داد م ام زای تساوخ  دروم ردقحت سردیق نکیم 
	 لقتسمندرکرکف  / هب دامتعا سفن  (یم دای نادرگاش هب ار داد) 
	یم یعیبط رنه ار نداد سرد یهورگ  دنناد( دیاب هک)دشاب صخش دوجو رد  یتراهم ار نآ رگید هورگ /یم  دیاب هک دنناد دایتفرگ 
	تذل شیارب نداد سرد /  تشاد تسود ار مدرم وا شخب دوب 
	 نوچ دوب یتلاجخ 
	وا یاشنا روپدرخ یاقآ
	وا یاشنا روپدرخ یاقآ
	 
	دناوخ سلاک رد ار
	 

	یم نییاپ رتمک سلاک رد ار شرس ثحب رد یهاگ / تخادنا یم تکرش اه .درک
	یم نییاپ رتمک سلاک رد ار شرس ثحب رد یهاگ / تخادنا یم تکرش اه .درک
	 

	یم سرد هک یعوضوم داد/ تایبدا شناد اب طابترا ( تحار ار نازومآ یم رت .درک) 
	زیف نیناوقی ار کشیامزآ اب س یاههدا  تعیبط و یگدنز هبارتباط یم  داد 

	2 
	2 
	1 
	2 
	2
	2
	 

	 
	 

	 
	 

	2
	2
	 

	 
	 

	2
	2
	 

	 
	 

	 
	 

	2 
	1
	1
	 

	1 
	2
	2
	 

	1 
	2
	2
	 


	 
	 

	 
	 

	Span

	TR
	ا
	ا
	ا
	 

	 

	 
	 

	Span

	TR
	 
	 
	 
	 

	 
	 

	Span

	TR
	 
	 

	 
	 

	Span


	 
	 
	 
	 
	Task 6 
	 If only 1/3 of the questions have been answered, the maximum mark for C2 is the 5/6 band 
	 If only 1/3 of the questions have been answered, the maximum mark for C2 is the 5/6 band 
	 If only 1/3 of the questions have been answered, the maximum mark for C2 is the 5/6 band 

	 If only 2/3 of the questions have been answered, the maximum mark for C2 is the 7/8 band 
	 If only 2/3 of the questions have been answered, the maximum mark for C2 is the 7/8 band 


	 
	 

	 
	 
	Table
	TR
	TD
	Span
	GRID C.2 

	TD
	Span
	QUALITY OF LANGUAGE - ACCURACY     
	10 marks  AO3 

	Span

	9-10 
	9-10 
	9-10 

	Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.  
	Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.  

	Span

	7-8 
	7-8 
	7-8 

	Language generally accurate. Shows a sound grasp of AS and/or A2 structures, as appropriate. Generally correct use of complex structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.  
	Language generally accurate. Shows a sound grasp of AS and/or A2 structures, as appropriate. Generally correct use of complex structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.  

	Span

	5-6 
	5-6 
	5-6 

	Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct use of complex sentence structures. The performance is likely to be patchy and inconsistent. 
	Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct use of complex sentence structures. The performance is likely to be patchy and inconsistent. 

	Span

	3-4 
	3-4 
	3-4 

	Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival agreements) but evidence of correct use of simple sentence structures.  Vocabulary and structures may be quite strongly influenced by the candidate’s first language.  
	Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival agreements) but evidence of correct use of simple sentence structures.  Vocabulary and structures may be quite strongly influenced by the candidate’s first language.  

	Span

	0-2 
	0-2 
	0-2 

	Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common nouns). Frequent first language interference. 
	Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common nouns). Frequent first language interference. 

	Span


	 
	 

	 
	 

	 
	 

	 
	 

	 
	 

	 
	 

	 
	 
	 
	 

	 
	 
	Task7 
	 
	Task specific guidance 
	 
	Have a copy of the text to hand and familiarize yourself with it, so that you can easily spot instances of lifting from the original. Only the candidates’ work will appear on the screen. You will have three successive screens 7a, 7b and then 7a + 7b again, but without the annotations in order to assess QoL. 
	 
	Task 7a   Comprehension. Grid I [10 marks] 
	a. Annotations:  
	a. Annotations:  
	a. Annotations:  
	a. Annotations:  


	 In the body of text, use a green tick   to show that a point from the mark scheme below has been fully and successfully conveyed. 
	 In the body of text, use a green tick   to show that a point from the mark scheme below has been fully and successfully conveyed. 

	 If an element of the point has been omitted, use the caret sign ().  
	 If an element of the point has been omitted, use the caret sign ().  

	 If a point has been omitted, is incorrectly rendered or is rendered in a way that would be incomprehensible, use no annotation.  
	 If a point has been omitted, is incorrectly rendered or is rendered in a way that would be incomprehensible, use no annotation.  


	The annotations will give a global impression to help you apply Grid I accurately and consistently.  
	b. Grid I: Looking at the annotations, assess what proportion of the points has been conveyed and apply Grid I. Enter your mark. 
	b. Grid I: Looking at the annotations, assess what proportion of the points has been conveyed and apply Grid I. Enter your mark. 
	b. Grid I: Looking at the annotations, assess what proportion of the points has been conveyed and apply Grid I. Enter your mark. 
	b. Grid I: Looking at the annotations, assess what proportion of the points has been conveyed and apply Grid I. Enter your mark. 

	c. Copying / lifting: If chunks of the text are simply copied, award marks for comprehension but there is a limit of 3-4 marks for (a) if the entire answer is lifted (see Grid I). Verbatim copying of the stimulus text results in no marks. Use the highlighting tool (…...) to show lifted language. Only phrases of 5 words or more should be counted as lifted language. 
	c. Copying / lifting: If chunks of the text are simply copied, award marks for comprehension but there is a limit of 3-4 marks for (a) if the entire answer is lifted (see Grid I). Verbatim copying of the stimulus text results in no marks. Use the highlighting tool (…...) to show lifted language. Only phrases of 5 words or more should be counted as lifted language. 



	 
	 
	 

	 
	 

	 
	 

	 
	 

	 
	 

	 
	 

	 
	 
	 
	 
	 

	Question 
	Question 
	Question 
	Question 

	Indicative content 
	Indicative content 

	Marks 
	Marks 

	Guidance 
	Guidance 

	Span

	 
	 
	 

	 
	 

	[10] 
	[10] 

	Content  
	Content  

	Levels of Response 
	Levels of Response 

	Span

	1, 2 &3 
	1, 2 &3 
	1, 2 &3 

	 یسوت یسودرف زا یکینیرتگرزب
	 یسوت یسودرف زا یکینیرتگرزب
	 یسوت یسودرف زا یکینیرتگرزب
	 
	نارعاش ناریا تسا  /
	 
	 باتک یو فورعم همانهاش/ تسا  تسا یسراف نابز نتشادهگن هدنز وا راک تیمها ./
	 


	3 
	3 
	 
	 

	 
	 

	Grid I  
	Grid I  
	COMPREHENSION OF TEXT    
	9-10 
	Consistently relevant information. Includes nearly all the points from the original passage. Shows a very clear understanding of the text 
	7-8 
	Relevant information showing understanding of up to two thirds of the points from the original passage. There may be one or two instances of lifting from the original passage. 
	5-6 
	Some relevant information showing understanding of up to half of the points. There may be instances of lifting from the original passage. 
	3-4 
	Little relevant information. Includes up to a third of the points, showing understanding of some of the points. Over-reliance on phrases lifted from the original passage. 
	0-2. 
	No relevant information or supplies one or two relevant points from the original passage. 

	Span

	4 & 5&6   
	4 & 5&6   
	4 & 5&6   

	 رد یسودرف هاگمارآ یگنهرف هعومجمیکیدزن  رهشدهشم دراد رارق /  یسودرفرد یاتسور زاف 
	 رد یسودرف هاگمارآ یگنهرف هعومجمیکیدزن  رهشدهشم دراد رارق /  یسودرفرد یاتسور زاف 
	 رد یسودرف هاگمارآ یگنهرف هعومجمیکیدزن  رهشدهشم دراد رارق /  یسودرفرد یاتسور زاف 
	/ 
	 رد
	۲۸
	 
	یرتمولیک
	 
	 )کیدزن(
	هاگمارآ
	ش
	 
	 
	هب
	 
	 ایند
	/ دمآ
	 
	  
	 


	3 
	3 

	 
	 

	Span

	7 & 8  
	7 & 8  
	7 & 8  

	رد زورون لاسما یدایز دادعت  رگشدرگ)ندید یارب( / یسودرف هاگمارآ، هزوم ی  غابهناخباتک و نآ ی دندمآ 
	رد زورون لاسما یدایز دادعت  رگشدرگ)ندید یارب( / یسودرف هاگمارآ، هزوم ی  غابهناخباتک و نآ ی دندمآ 

	2
	2
	2
	 

	 

	 
	 

	Span

	9 & 10  
	9 & 10  
	9 & 10  

	دوبهب  و تلایهست / دیدج تاناکما نویلیم کی زا شیب درگ ار رگش  بذج()تسا هدرک  
	دوبهب  و تلایهست / دیدج تاناکما نویلیم کی زا شیب درگ ار رگش  بذج()تسا هدرک  

	2 
	2 

	 
	 

	Span

	11&12  
	11&12  
	11&12  

	هشم دکی هم یترایز ای یبهذم رهش / تسا م  دراد تیمها رظنود زا هقطنم 
	هشم دکی هم یترایز ای یبهذم رهش / تسا م  دراد تیمها رظنود زا هقطنم 

	2 
	2 

	 
	 

	Span

	13 
	13 
	13 

	ناکم هب نارفاسم هجوت شیازفا زا یخیرات یاه و  یگنهرفهرهب(  هدش دنمتسا) 
	ناکم هب نارفاسم هجوت شیازفا زا یخیرات یاه و  یگنهرفهرهب(  هدش دنمتسا) 
	No of points 
	12-13         10 marks 
	10-11           9 marks 
	8-9               8 marks 
	6-7               7 marks 
	5                  5 marks 
	4                  4 marks  

	1 
	1 

	 
	 

	Span


	 
	Task 7(b)  Response Grid J  [20 marks] 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 

	Guidance 
	Guidance 

	Span

	 
	 
	 

	 
	 

	[20] 
	[20] 

	Content  
	Content  

	Levels of Response 
	Levels of Response 

	Span

	 
	 
	 

	No Indicative Content – personal response 
	No Indicative Content – personal response 
	 
	 

	 
	 

	Grid J: Looking at the annotations, assess the quality of the response to the text and apply Grid J. NB: “imagination” and “insight” are interpreted conservatively. The number of ticks you have awarded will indicate a mark band. You must then use your professional judgement to fine tune your marking. You may look at the quality of the candidate's points and go down a mark or two if they seem rather pedestrian or repetitive. Similarly, an attempt at originality or humour could gain an extra mark or two. Ente
	Grid J: Looking at the annotations, assess the quality of the response to the text and apply Grid J. NB: “imagination” and “insight” are interpreted conservatively. The number of ticks you have awarded will indicate a mark band. You must then use your professional judgement to fine tune your marking. You may look at the quality of the candidate's points and go down a mark or two if they seem rather pedestrian or repetitive. Similarly, an attempt at originality or humour could gain an extra mark or two. Ente
	 Use the green tick ()   in the body of the text to show each opinion / personal response and a green tick  (+) in body of text to show a development / extension of the opinion. NB: one opinion may have several extensions. 
	 Use the green tick ()   in the body of the text to show each opinion / personal response and a green tick  (+) in body of text to show a development / extension of the opinion. NB: one opinion may have several extensions. 
	 Use the green tick ()   in the body of the text to show each opinion / personal response and a green tick  (+) in body of text to show a development / extension of the opinion. NB: one opinion may have several extensions. 


	 

	GRID J 
	GRID J 
	RESPONSE TO TEXT 
	 
	16-20 
	Responds with well developed points of view which show insight, originality and imagination. 
	 
	12-15 
	Expresses points of view which are consistently developed and respond to the requirements of the task. Shows some originality and/or imagination 
	 
	8-11 
	Expresses points of view which respond to the requirements of the task. Some of these may be developed and there may be some originality and/or imagination. 
	 
	4-7 
	Manages the beginning of a response to the requirements of the task. May have difficulty in expressing and/or developing points. 
	 
	0-3 
	Very short. May not go beyond points of view already expressed in the original text. 

	Span


	 
	 
	 
	Task 7(a) + 7(b) – Language (QoL) – Grids C.2 and F.2:  [20 marks] 
	 
	 
	Question 
	Question 
	Question 
	Question 

	Answer 
	Answer 

	Marks 
	Marks 

	Guidance 
	Guidance 

	Span

	Task 7a+b 
	Task 7a+b 
	Task 7a+b 

	Assess for Quality of Language using Grids C2 and F2 
	Assess for Quality of Language using Grids C2 and F2 
	Appendix 1 
	 
	 

	[20] 
	[20] 

	a. Read the whole response again and assess for Range (Grid F2) first – i.e. vocabulary and structures. Then assess for Accuracy (Grid C2). Key words have been highlighted in the grids below. Ignore final sentence of 3-4 band in Grid C2, because vocabulary and structures have already been assessed under Grid F2. If you wish, you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not essential. Enter your mark. 
	a. Read the whole response again and assess for Range (Grid F2) first – i.e. vocabulary and structures. Then assess for Accuracy (Grid C2). Key words have been highlighted in the grids below. Ignore final sentence of 3-4 band in Grid C2, because vocabulary and structures have already been assessed under Grid F2. If you wish, you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not essential. Enter your mark. 
	a. Read the whole response again and assess for Range (Grid F2) first – i.e. vocabulary and structures. Then assess for Accuracy (Grid C2). Key words have been highlighted in the grids below. Ignore final sentence of 3-4 band in Grid C2, because vocabulary and structures have already been assessed under Grid F2. If you wish, you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not essential. Enter your mark. 
	a. Read the whole response again and assess for Range (Grid F2) first – i.e. vocabulary and structures. Then assess for Accuracy (Grid C2). Key words have been highlighted in the grids below. Ignore final sentence of 3-4 band in Grid C2, because vocabulary and structures have already been assessed under Grid F2. If you wish, you may use the underlining tool (--) to show language errors if you find it makes it easier to apply Grid C.2, but it is not essential. Enter your mark. 

	b. Ignore language lifted from the text when assessing language (See Task 8a above). Lifted language is not credited for QoL – only content points and/or personal response.  
	b. Ignore language lifted from the text when assessing language (See Task 8a above). Lifted language is not credited for QoL – only content points and/or personal response.  


	 

	Span


	 
	 
	 
	APPENDIX 1 
	 
	 
	GRID C.2 
	GRID C.2 
	GRID C.2 
	GRID C.2 

	QUALITY OF LANGUAGE - ACCURACY     
	QUALITY OF LANGUAGE - ACCURACY     
	10 marks  AO3 

	 
	 

	GRID F.2 
	GRID F.2 

	QUALITY OF LANGUAGE  (RANGE)                   
	QUALITY OF LANGUAGE  (RANGE)                   
	10 marks AO3 

	Span

	9-10 
	9-10 
	9-10 

	Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.  
	Characterised by a high and consistent level of accuracy in use of complex structures, although there may be some errors.  

	 
	 

	9-10 
	9-10 

	Effective and confident use of a wide range of vocabulary and idiom with a variety of complex sentence structures.  
	Effective and confident use of a wide range of vocabulary and idiom with a variety of complex sentence structures.  

	Span

	7-8 
	7-8 
	7-8 

	Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.  
	Language generally accurate. Shows a sound grasp of AS (and/or A2) structures, as appropriate. Generally correct use of complex structures. Tenses and agreements good, although there may be some inconsistency and errors in more complex areas.  

	 
	 

	7-8 
	7-8 

	Effective use of a range of vocabulary and structures appropriate to the task, with little repetition. A positive attempt to introduce variety and to use a range of complex sentence structures (though not always able to maintain correct usage).  
	Effective use of a range of vocabulary and structures appropriate to the task, with little repetition. A positive attempt to introduce variety and to use a range of complex sentence structures (though not always able to maintain correct usage).  

	Span

	5-6 
	5-6 
	5-6 

	Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct use of complex sentence structures. The performance is likely to be patchy and inconsistent. 
	Shows evidence of fair understanding of grammatical usage. Generally accurate use of simple sentence structures. Some correct use of complex sentence structures. The performance is likely to be patchy and inconsistent. 

	 
	 

	5-6 
	5-6 

	Attempts to extend the range of vocabulary, though still rather repetitive. Attempts to use more complex language with some success in producing a range of syntax and sentence structures appropriate to the task.  
	Attempts to extend the range of vocabulary, though still rather repetitive. Attempts to use more complex language with some success in producing a range of syntax and sentence structures appropriate to the task.  

	Span

	3-4 
	3-4 
	3-4 

	Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival agreements) but evidence of correct use of simple sentence structures.  (Vocabulary and structures may be quite strongly influenced by the candidate’s first language).  
	Evidence of gaps in basic grammar. Frequent errors of an elementary kind (endings, verb forms, gender of common nouns, adjectival agreements) but evidence of correct use of simple sentence structures.  (Vocabulary and structures may be quite strongly influenced by the candidate’s first language).  

	 
	 

	3-4 
	3-4 

	Use of a restricted range of vocabulary and structures. Frequent repetition of the same words and phrases. Some attempt (not necessarily successful) at the use of more complex sentence structures.  
	Use of a restricted range of vocabulary and structures. Frequent repetition of the same words and phrases. Some attempt (not necessarily successful) at the use of more complex sentence structures.  

	Span

	0-2 
	0-2 
	0-2 

	Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common nouns). Frequent first language interference. 
	Little evidence of grammatical awareness. Persistent, serious and elementary errors (endings, verb forms, gender of common nouns). Frequent first language interference. 

	 
	 

	0-2 
	0-2 

	Only simple sentence patterns. Very limited vocabulary. Very limited range of structures.  
	Only simple sentence patterns. Very limited vocabulary. Very limited range of structures.  

	Span


	 
	 
	 
	Transcripts of Listening Texts 
	 
	Note for Document production team: This section of the mark scheme must stay in Portrait format until after the standardisation meeting. 
	                                  
	                                  
	 نیرمت
	۱
	 
	–
	 یهافش کرد
	 

	Tapescript for Exercise 1 
	Tapescript for Exercise 1 
	     
	      
	 

	ییویدار شرازگ
	ییویدار شرازگ
	 

	 
	P
	Span
	 و هلاژ ،یناریا تسود ود تبحص هب
	امین
	 
	هرابرد
	 
	هچب ی
	 
	 تلااؤس هب و دینک شوگ ناشیاه
	:دیهد خساپ ریز
	 

	P
	Span
	هچب نیا هب نم هگا ،منک راکچ منودیمن ًاعقاو :هلاژ
	 
	همه ،نایمن مه ندروخاذغ عقوم یتح مگن یزیچ اه
	 
	 شا
	Span
	 قشم و سرد هک راگنا هن راگنا ،مرتخد ًاصوصخم .ننیبب ملیف ننیشب ای ننک یزاب رتویپماک اب ای ناوخیم
	Span
	هراد
	هنوخ فیلاکت هک تفگ و تساوخ هسردم هب ونم راب دنچ شملعم ،
	 
	 مه یراک هگا ای و هدیمن ماجنا ای وش
	Span
	یم
	 
	و ههابتشا زا رپ ًارثکا هنک
	 
	هک تفگ
	 
	.هنک شلات رتشیب دیاب
	 

	P
	Span
	تیدودحم همه اب هک هتفرگ دای اجک زا منودیمن
	 
	 یسرتسد یارب هک ییاه
	سیف هب
	 
	کوب
	 
	 ناریا رد تنرتنیا و
	Span
	 زاب هراد دوجو
	یم مه
	 
	سیف رد و تنرتنیا هرب هنوت
	 
	سکع کوب
	 
	 فرح نوشاهاب و هنک هاگن وشاتسود یاه
	Span
	هچب نیا زا نم هک هنیا لثم هگید ًلاصا  .هنزب
	 
	هدش رود اه
	 
	یمن شوگ ونم فرح و ما
	 
	.ننک
	 

	امین : ناج هلاژ ،نکن تحاران وتدوخهچب نیا و هدش ضوع هنومز هرود ًلاوا ،هراد یهار یلکشم ره  اب اهقرف ام یگدنز زا یشخب لیاسو نیا ،نراد  لاس هسود مهام .تفرگ ور نوشولج روز هب هشیمن و هدش نوشیگزات یلو میتشاد ور لکشم نیمه شیپ  ًلاوا  .هدرک رییغت عاضوا اههچب قفاوت اب ام اه همانرب  و میتشون یادرک یعسه م  .میرب شیپ همانرب نوا یور هک میااب مهاب همه لیطعت یاهزور ٌلاثیم یز   ف نیا هک مینکیتصر ههمه ام .میشب کیدزن رتشیب مه هب هک  کی یور میتفرگ مه اب هک ور یتامیمصت ی همه و میتشون ذغاک قرویمن ،میدرک اضما ور شریز همه مگ هچب ی
	P
	Span
	 

	 
	 
	Tapescript
	Tapescript
	 
	 
	for
	 
	Exerc
	ise
	 
	2 
	     
	   
	 

	 نیرمت
	 نیرمت
	۲
	 
	–
	 یهافش کرد
	 

	زورون تلایطعت
	زورون تلایطعت
	 

	هتفه ود هک مدش روبجم نم .میتفر ناریا هب ام لاسما زورون  ی هسردم تلایطعت نوچ مرن هسردم هب ار رخآیم ام و دش عورش رترید اجنیا رد میشاب ناتسود و لیماف رانک رد و ناریا رد ار دیع لوا زور میتساوخ
	هتفه ود هک مدش روبجم نم .میتفر ناریا هب ام لاسما زورون  ی هسردم تلایطعت نوچ مرن هسردم هب ار رخآیم ام و دش عورش رترید اجنیا رد میشاب ناتسود و لیماف رانک رد و ناریا رد ار دیع لوا زور میتساوخ
	 .
	هتبلا
	 
	یلب
	ت
	 
	میپاوه
	نازرا مه ا
	 
	دوب رت
	 
	 لاح ناریا رد زورون دیع .دوب هدشن عورش تلایطعت لصف زونه نوچ
	هگید یاوهو
	 
	ا
	 نریم همه دیع زا شیپ هتفه هس ود زا .اجنیا رد سمسیرک یاهزور لثم یدح ات ،هراد ی
	هداوناخ ره هتبلا ،دیرخ
	 
	 یا
	هزادنا هب
	 
	 ی
	ناوت
	ییا
	 
	نوشیلام
	.
	 
	هنوخ همه
	 
	شاه
	یم زیمت ور نو
	 
	نک
	ن
	 اب ،د
	 و سدع
	یم هزبس مدنگ
	 
	نراذ
	 
	تفه لئاسو و
	 
	 
	یم هدامآ ار نیس
	 
	 .ننک
	 زور نیلوا رد ًاقیقد ون لاس عورش و زورون نوچ
	یم عورش راهب
	 
	 ،هش
	م اوه
	لدتع
	 
	یم
	 
	یم هفوکش ناتخرد ،هریم امرگ هب ور و هش
	 
	اهب و ننک
	ر
	 
	 ار
	 ًاعقاو
	 هشیم
	ح
	درک س
	همه زورون یاهزور رد هناتخبشوخ  .
	 
	ی
	 
	هسردم
	 
	ادا و اه
	هر
	 
	اه
	 
	نلیطعت
	 
	 و
	همه
	 
	ا ی
	 و لیماف دارف
	هداوناخ رتشیب رد و نریم هگیدمه ندید هب گرزب و کچوک زا ناتسود
	 
	اه
	 
	 یتسود و یتشآ و یداش یاضف
	.هشیم ساسحا
	 
	هدیاف نم یارب ترفاسم نیا
	 
	 
	دایز یاه
	ی
	 
	منزب فرح یسراف تدم مامت هک مدش روبجم ،تشاد
	 
	 و
	هچب اب
	 
	یماف یاه
	 ل
	 مه
	 تسود
	دش
	م
	 .
	نیعرد
	 
	 
	 لاح
	نوت
	 متس
	 و منیبب کیدزن زا ور یناتساب زورون موسر و بادآ
	نوا رد
	ا
	 
	منک تکرش
	هبنج زا یکی .
	 
	تذل یاه
	 
	.دوب یناریا گنهرف اب رتشیب ییانشآ رفس نیا شخب
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	P
	Span
	ناهفصا هب هللا رفس
	 

	P
	Span
	هسسؤم کی رد یزومآراک یارب یبوخ تیعقوم هللا هتشذگ لاس
	 
	هب ناهفصا رد یسیلگنا نابز شزومآ ی
	 
	 
	Span
	هام ود تدم هب راک نیا  .دروآ تسد
	 
	 
	و
	 
	 و دوب هسسوم سیئر هللا یمیمص تسود ردپ  .دوب ناتسبات رد مین
	Span
	یم راک اجنآ ملعم کمک ناونع هب هللا
	 
	ؤم  .درک
	سس
	 ه
	یم مه اذغ لماش هک ناگیار تماقا لحم
	 
	 رایتخا رد ،دش
	Span
	یم سرد یسیلگنا ناکدوک هب هللا  .دوب هتشاذگ وا
	 
	نآ و داد
	 
	هجهل هک وا اب ندرک تبحص زا اه
	 
	ی
	 
	 لیصا
	Span
	یم ناششوخ ،تشاد یسیلگنا
	 
	.دمآ
	 

	P
	Span
	هم زکارم زا یرایسب هب یسرتسد و فارطا هب دمآ و تفر ،دوب ناهفصا زکرم رد هسسؤم هک اجنآ زا
	 م
	Span
	.دوب ناسآ یگنهرف
	 

	P
	Span
	هزوم هب نتفر فرص ار دوخ دازآ تقو رتشیب هللا
	 
	هناخباتک و اه
	 
	یم اه
	 
	هرابرد ات درک
	 
	هرود هک ،هیوفص ی
	 
	 ی
	Span
	هقلاع دروم یخیرات
	 
	 .دزومایب رتشیب ،تسوا ی
	 

	P
	Span
	یم هللا
	 
	هرود رد لیصحت یارب دهاوخ
	 
	هاگشناد زا یکی رد ملعم تیبرت ی
	 
	هرود نیا .دهدب اضاقت ،ندنل یاه
	 
	 ی
	Span
	ک
	یم باسح هب زایتما کی وا یارب یزومآرا
	 
	  .دیآ
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